Trevejshane for




G@MA PARTS LIST

ITEM| QTY DESCRIPTION Order no.
1 1 |Stdlbolt, 12X120MM 005312120
2 1 |Stdlszetbolte, 12X50MM 00571250
3 1 |Stdlsaetbolte, 8X25MM 0057825
4 6 |Stdlsaetbolte, 8X35MM 0057835
5 2 |Ldsemgtrik, M12MM 036812
6 7 |Norlock Skiver, M8 @8,7X13,5X2,5 0401700208
7 6 |Facetskive, M12MM 040712
8 6 |Facetskive, MSMM 04078
9 1 |Cylinderbeslag for 3-vejs hane SV. |G440000102
10 | 1 |Trevejshane 6" G440000298
11 | 1 |Skive for handtag G440000343
12 | 1 |Arm For Cylinder G440000376
13 | 1 |Cylinder, ©32/16X150, Faroil G840000080







